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MARCELLIN COLLEGE RANDWICK

Number & Measurement {17 marks}

1.

Evaluate 10x4-4x7 - o -
10

{1 mark]

2. Rewrite 0,173 as a fraction.
{2 marks)
3. If 9% of Jordan’'s money was spent on a $216 air flight to Brisbane, how much money did

lardan have?

YEAR 9
5.3 MATHEMATICS
TASK 1
2017
STUDENT NAME: ___
TEACHER:
TOPIC MARK
Number & Measurement /17
Algebra 7
Equations, Inequations & Formula /22
- Total . /36

{2 marks}

TIME ALLOWED: 45 minutes
WEIGHTING: 15%

Directions:

Show all necessary working. Where more than one mark is allocated to a question, full
marks may not be awarded for answers oniy.
Marks may not be awarded for careless or badly arranged work.

Calculators may be used

4. Express Skan/ ki in m/sec, correctto-2 decimal places,

+

{2 arks)




Number & Measurement continued

“Algebra {17 marks)

. State the number of significant figures in each of the following.

{a) 0.0013
{(h) 35000 (to the nearest thovsond} :
{1 mark each part)
Round each of the following to the number indicated in the brackets.
{a} 0:0035 (3 decimal places)
(b} 0.00746 (1 significont figure}
(c) 25674 (4 significant flgures) - . .
{1 mark each part)
. Convert the following.
{a) 6.5L to ml.
{b} 3400MB to GB. ‘ B )
{1 mark each part)
. Write 3.2%107 as a basic numeral.
{1 maork)
Find the abselute error of 45.3L.
{2 marks)

i. Simplify the following expressions:

A} 4x*-3x—x"4x

]

K

{1 mark)

)
(b}, 2nx3nm -+ 9mn |
{
¢ {2 morks).
2p—1 p—4
g 2= 277
3 4
(2 marks) |
2. Expand and simplify the following:
{a) Ty—2(y+5)
i
{2 muarks)

{b) —(m +4)(m Rl)

{2 marks}




r | ©) (2x~1)27(§‘2.3f'+1)(2x—1) N

Equations, Inequations and Formulas {24 marks)

{3 marks)
5. Factorise the followlng:
: (a) x*-dx
{1 mark]
th} 21xy—3x
1 :
{2 marks)
(c} m(x-}-l)ﬁ3(x+1)
{2 marks}

1. Solve the following:

(a) 2m+1=17,

(b) 3x+7=5x+14

y

T y-2 .
=]—-yp -
(e) 3 2

-2 a3 )
3 .5

{d)

{2 marks)

{2 marks}

{2 morks}

{3 marks}




F 2. Soive the following Inequality and graph the solution on a number line.

L]

2{3-x)<20

5.

Justin is & years older than his sister Chelsea, Thelr mother is three times lustin’s age. .

(a') If the sum of the three ages is 75, write an equation to find Justin’s.age.

{2 marks)
{b} Solve the equation and find each person'sage.

(2 marks)

{3 marks)
3. Given that F=3Z+%, find C when F=102. Correctto 1 decimal place.
3 {3 marks)
h{a+b
4, Make B the subject of the formula A=La£~—)
‘ /
B {3 marks)

End of Examination




MARCELLIN COLLEGE RANDWICK

YEAR 9
5.3 MATHEMATICS
TASK 1
2017

Number & Measurement (17 marks)

10x4—~4x7 .

1. Ewvaluate
10
- bro ~ 2% o0 ¢
[o T -
{1 mark)
2. Rewrite 0,173 as a fraction. Let a=00171
{0o0 e = 173,72
C tox- 1ot
r - -
9% = 1712
?L:i—?—i
190
. _B&
445
{2 marks}

STUDENT NAME: __ O 0L U Trons

TEACHER:
TOPIC MARK
Number & Measurement /17
Algebra /17
Equations, Inequations & formula 22 -
/56
- Total _

3. If 9% of lordan’s money was spent ana a $216 air flight to Brisbane, how much money did

Jardan have?
Tex 2= 21016

bieix =21 b

x= AL
5|0T

= 3.2{{ o0

{2 morks}

TIME ALLOWED: 45 minutes
WEIGHTING: 15%

Directions:

«  Show all necessary working. Where more than one mark s allocated to a question, fuli

marks may not be awarded for answers only.

»  Marks may not be awarded for careless or badly arranged work.

* Calculators may be used

4. Express S/l in m/sec, correctto-2 decimal places.

50051 [4orb0 50

= 137w fsee

{2 nia@




Number & Measurement continued

State the number of significant figures in each of the fallowing.

-
"Algebra {17 marks)

1. Simptify the following expressions:

{a) 48 =3x—x"+x

(a) 0.0013 Z
{b) 35000 (to the nearest thousand)}’ 2.
{1 mark each part}
Round each of the following to the number Indicated in the brackets.
(a) 0.0035 (3 decimal places) 0. 004
(b} 0.00746 (1 significant figure} _ 0r007 .
(c) 25674 {4 significant figures} 25670
{1 mark each part)
Convert the following.
{a) 6.5L to ml. 6500 ml
{b) 3400MB to GB. . kG
{1 mark esch part)
. Write 3.2x107* as a basic numeral.
0,003
{1 mark)
Find the absolute errar of 45.3L.
0. 05
{2 marks}

3= 22 ‘
{1 mark)
{b}, 2nx3nm +Bnr'n ?
L
, —4——,__& o n
f A Im
¢ {2 marks).
o 221 _p-4
Y 4ppen <30-n
[ SR —
i1
ffl - .._’3’, #1132
[
[N
s—rx -+ 8
|z
{2 marks) |
2. Expand and simplify the following:
(@) 7y—2(y+5)
Ty -2y e
= S-j -{o
2 marks)

{b) (m + 4) (m ﬁl)

2]

T gt A — &

4 3 - 4‘

{2 marks)




{c) (2.\' —1)2 —(?:-..'4-1)(21‘—1)

bat oyt — (427 1)

i

Ba—hndl - lpag 1

= l-4%z

Equations, Inequations and Formulas {24 marks}

1. Solve the following:

{3 marks)
5. Factorise the following:
fa) x*—dx
w (%-4)
{1 mark}
{b) 21xp—3x
a7 4 1)
(2 marks)
(©) mx+1)-3(x+1)
{m=3 Mn41)
{2 marks}

fa) 2m+1=17,
_Qm = (b
= ?

{h) 3x+7=5x+14

e :._«7.
'k-—m-z
Z .
2
(c) 3 =l-y - _
VA ¥
4j=5-
.5
4=
n-2 n-3
Wy =g

(Mu”ifl'j both stds l’j '5)

Sh-2)t 3 n-1)=axic

Su—tfod3n-9 =%
S~ 0=~ 730
Gz~ 1

hwg'_i

{2 marks}

{2 marks)

{2 marks)

{3 marks)




2. Solve the followinginequality and graph the solution ¢n 8 number line,

2(3-%)<20 - !
F-n & o
-3 ~lo

xz -7

27.

2/}*. h (41‘5)

?-f; at+h
I
b= 24 4

h

{3 morks}

{3 marks}
3. Giventhat ¥ :32+%, find ' when & =102, Correct to 1 decimal place.
fo2=g, ¢ 1€

9¢
ERNL
Ge=1350

=350

9
= 3¢.7
{3 marks)
h{a+b
4. Make b the subject of the formula A ‘:M

5.

Justin is & years older than his sister Chelsea, Thelr mother is threz times Justin’s age.

{a} If the sum of the three ages is 79, write an equation to find Justjn’s.age.

Leb Jushass

tLJ«L £H’_ A
Chelsen’s age = 2-b

;Ha Hu's 431 = 37L.

p oAt~ btFe =79 .

CSe-l=77 {2 marks}
{b) Soive the equation and find each parson’sige.

53 = g€
=1y

4

L}

{2 mu@

End of Examination




